15 [ RV BIRIBERS
ERE 20 F 2 B 9 H(E)10 B(B)BE

N AFIORETE, 2EXRRICEBTE2RRITHEVET,

FEEER(FEIz=VIR)ELLER ! !

ELMICT. RASKREDYTSURGAE  EVvFRRICEDLELIL—ICTERICEFIL RBICEAFELT,
RBETIX. 0 xF 0 DPKEg-+- 9 ABETOHYRULRADIER ., BEEHALERE---ShE. 50 —XVE
BELTWDERLEWNWYYh—(TRERICEEH UV EL,

FE)—4 FER1942 A9 H(L)

AJOvs KB FF BHEREE HER B /BErmE B
KB AF PP 7-1 0-2 2 +4 2
HER 1-7 PP S 0-8 0 -14 3
HER 2-0 8-0 X 4 +10 1
BJOvY MENRA  BHE REHE B "fErmE B
HEJIIRA P4 1-0 4-0 4 +5 1
ZHE 0-1 PP S 4-1 2 +2 2
RHR 0-4 1-4 PP 0 -7 3
covy Flm 2 BRIRAR FEI=vIZA B JkmzE B
FRAE IR XX 0-0 0-2 1 -2 2
RIRHE 0-0 PP 0-2 1 -2 3
FEILIZYIA 2-0 2-0 XX 4 +4 1
DJOv% EER BE)NNEB =EE B = JErmE B
EER PP 4-0 4-1 4 +7 1
HR)NEB 0-4 P 0-3 0 -7 3

=ER 1-4 3-0 PP 2 0 2



D, 1~4f REH

. 5~afs WEH

@, o~12{F BFH

REEN—FAVMNIBRURER) FR 195 2 A 10 BH(B)

0
0
FE FPE
g i
HE A 7 BHE 5
0
0
2
0
FPE
-
R I
0
0
0
0
FE
3 I
HE B 4 )
1
0

MR e
" wmima
Ci

TR
L1

BB
Al

KERIE
[=l=iim

SEIEE
C2fi

SIS
=
A

BT R
[=letim

ESpEE
R mmma
D3

H=]EB




%5 BEEREUI2 LFYyvh—kLt)—5

TRE 194 10 B 13 B &Y —V EEE

BEYYI—ELXFEESDTET. BRSHEEBRF—LNR LY TERZSMORIGICTERIND
Y —JETY,

FEEER(FEII=VIR)EBE ' !

#ME) BEEH FHERE XRWE HERE TEER HARR WHEE BS  Sxa2 B

MBI X% 0-3 0-2 3-0 2-0 0-0 1-0 10-0 13 11 3
RIEE 3-0 X% 01 2-0 3-0 0-1 0-0 4-1 13 9 4
BER 2-0 1-0 ¥ 4-0 7-1 0-1 1-0 9-0 18 22 2
KRR 0-3 0-2 0-4 ¥ 0-0 0-7 0-3 2-1 4 -18 7
HER 0-2 0-3 1-7 0-0 XX 0-4 0-3 2-0 4 -15 6
FEE 0-0 1-0 1-0 7-0 4-0 XX 2-0 6-0 19 20 1
WARE 0-1 0-0 0-1 3-0 3-0 0-2 ¥ 1-0 10 3 5

E
»
Jm

0-10 1-4 0-9 1-2 0-2 0-6 0-1 PP 0 -32 8



F8E+XFZFEMN RF1=ZT7HIVH—BEFRR

TR 194F 8 B 4H(X)5 B(H) R

ZL\2 HEITLEA . EFOBESAONAIRYICKYERTHIZENTEELT

REFEFE-— FEIT=VIRDEF

/fTRE— FARERUN—ZXDEF

RZRbF—/N—E——- SCHIXARL—HDEF

TXFEEYYA—MOESA. REEROKEA. ELL 2 BEZRELTEESHYMNESITTVELT,

FE)—J

A INTAFC Il FCL ERIhL R /ER NE AL
INT4 FC *ok 3-0 6-0 6 9 1
Il FCL 0-3 ok 6-0 3 3 2
BRNIMHDLOARSC 0-6 0-6 ok 0 -12 3

B FAXm®E H AT (PSS B /LA NE L
FAERY/N—X ok 1-0 9-0 6 10 1
EHa%RET FC 0-1 Kok 1-0 3 0 2
[FOSREFC 0-9 0-1 ok 0 -10 3

C 71Z94R #&m FCL SC #k i3 (PN NE L
FEIT=YIR ok 9-0 5-0 6 14 1
#/ FCL 0-9 Kok 4-0 3 -5 2
SC fMxAL—H 0-5 0-4 *k 0 -9 3

) XIS =B¥ SC RKE i3 (EPN NE 2
X255 G *k 0-1 0-1 0 -2 3
=5 SC 1-0 Kok 0-1 3 0 2

BERKEIVCIILA 1-0 1-0 *ok 6 2 1



R~ —F A MBELLR E B

AFAFoMR— 5T

=2=0

........................................................... EvFD |21
1120

FAEARHA—X&

B D (e

"""" e Sfﬂ 1405

= 1—0
i Bl I — CGERVT— L)

BEAXET VLA

D aht— A ST LT — A

— T

2=1

EwFD
1210

— S5fu

i2-0

EuFD 1-0
1025
GBI F2 R— )LD 5T ¢
: EvFD
i 1310
B DA A S — L
1-0
BB FYvh—p3T ¢
A L O uh— ST , ....................
| EuFD 10
i 9:30
RS REIUR—E TS

o 111

EwFD
1215

— 9t

1—1
FH 3-=1

930

EuFD

AExBH—ILA




